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Solve the problems
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Problem 1

What is the area of the shaded region? (Each square is 100mm X 100mm)
Answer: ​​​​​​​​​​​​​______________________mm2
(Each square is 100mm X 100mm)

Problem 2
How Can This Be True?

ABC is made up of 4 pieces. DEF is made up of the same pieces, 
but in a different arrangement. In the DEF arrangement they 
seem to occupy an area that is one square unit less than in the ABC 
arrangement. 

How can this be? 


Answer: ​​​​​​​​​​​​​______________________

_____________________________

_____________________________
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Where did this hole come from?











